Answer Key ¢ Lesson 1: Lizardland Problems

Student Guide

Use clues in the picture of Lizardland and the pictures in this lesson to
solve the problems. Show or tell how you solved each problem. Use
number sentences, your number line, pictures, or words.

A. How many people can ride in the eight cars of the Leaping Lizard
Roller Coaster at one time?

B. Kathy wants to ride the Leaping Lizard
Roller Coaster. She is the one with a
crown at the end of the line. Will there be
enough room for her the next time it is
loaded, or will she have to wait?

I

. How many blocks are in the wall by the
entrance? Include the blocks that are
covered by signs.

w

. Each block in the wall is 8 inches high.
A. How high is the wall?
B. Could you climb over it?
C. Could you jump over it?
D. Explain your answers to Questions 3B and 3C.
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Lizardland (SG pp- 192-193)
Questions 1-9

Strategies will vary. One possible response is given
for each.

I. A.* 32; 8 cars of 4 people is 32 people. See
Figures 1-3.

B. Yes, there will be enough room for Kathy.
She is 25th in line.

2.* 150 blocks; skip count by tens; see Figure 4.

3. A. 80 inches; 10 blocks X 8 inches =
80 inches

B. Possibly
C. No

D. Possible response: I am about 50 inches tall,

so it would be hard to jump 80 inches.

*Answers and/or discussion are included in the lesson.
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Y. See Figures 5 and 6.
. Johnny has been watching the Lizard-Go-Round. It takes 30 seconds

A.* 4 minutes ; .
0 go around one time.

B * . A. How many minutes does it take to go around eight times?
.* 5 times ) ; AOEI
B. How many times does it go around in 2; minutes?

IS

5. Sec Figure 7. g e
. _ . How much did he spend?
$250’ 50¢ + 50¢ B $1 for 2 people’ so, $2 for 6. Roberto is at the refreshment stand with his
. . its. The buying two hot dogs,
4 people’ then $250 for 5 people or $2509 ?v?geﬁa?'nbu2/;:twug”frr‘iges:,vtzloolemzasades,
5 >< 5 — 25 ) 5 X 5 tenS — 250 and one milk. How much will their order cost?|
s

6. $13;%$1.50 + $1.50 =$3 for hot dogs
$2 + $2 = $4 for hamburgers
$1 + $1 = $2 for fries
$1.50 + $1.50 = $3 for lemonade
$1 for milk
$3 + $4 + $2 + $3 + $1=9$13
7. 100 seats are left; $400 +~ $2 = 200 seats;
300 seats — 200 seats = 100 seats

8. 5boys X $3=3$15;
Possible solution:

~

. Seats for today’s Lizard Show are
selling fast. So far, $400 has been
collected. How many seats are left?

! Seating
Show your work with number Capacity 300
sentences.

Show
Admission
$2.00

\/ Check-In: Questions 8-9

8. Sam used some money he had been saving to take his four brothers
to Lizardland. How much did the admission cost for Sam and his
brothers to visit the amusement park on Sunday?
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9. Write a multiplication problem about Lizardland and solve it.
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9.* Stories will vary.
Two possible problems are:
® How much would it cost for 3 hamburgers
and 3 milks? ($2.00 X 3) + ($1.00 X 3) =
$9or2 +2+2+1+1+1=9
® The 2 p™m Lizard Show sold out. If everyone
leaving the show bought ice cream, how

much would the ice cream vendor collect?
300 X 50¢ = $150.00.

*Answers and/or discussion are included in the lesson.
TG - Grade 3 - Unit 8 - Lesson 1 Answer Key 2



Answer Key ¢ Lesson 1: Lizardland Problems

Student Guide
I JHomework NN Homework (SG pp. 194-195)

1. Tara’s mother bought one balloon for .
Questions 1-5

Tara and one for Carla.
How much did she pay?

2. IE‘uis boug:tdt_idbﬁllons. I . $ 1 50
palloons cost? 2. $4.00 (Luis has six balloons and 3 balloons
cost $2.)

3. Response may vary as follows:

6 minutes. 3 groups ahead of him (shown in
the illustration) X 2 min. each = 6 min. (He’s
in the next group)
4. A. $27.00; children: $9.00; adults: $18.00
B. $9.00; on Tuesday, the total would be
$18.00; children: $4.50; adults: $13.50
Alternatively, you save $1.50 for each
person and 6 X $1.50 = $9.00.
5. A. 2:30

B. 6:30

w

. Jason wants to ride the Skyway. He is the one in
line below who is wearing the big hat and
sunglasses. He noticed that a new car is loaded
every 2 minutes. How long will he have to wait
before he can get into a car?
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4. Grandmother Moore, Mr. and Mrs. Moore,
and the three Moore children are eating ADMISSION
lunch beside Lizard Lake. It is Saturday. Mon—Fi  Sal-$un.

Adults $450 S840

Children $150 $3400

A. How much did the family spend on
admission tickets for the amusement
park?

B. How much would the Moores have
saved on admission if they had come
on Tuesday?

5. What time is shown on each of the Lizardland clocks?
A.
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